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QUESTION 1

Which of the following are risks to the success of a Green IT Programme? 

a.Alienation of key staff. 

b.Additional unplanned costs. 

c.Perceived lack of benefits. 

d.Early delivery of benefits. 

A. a, b, c and d. 

B. a, b and c. 

C. b and d. 

D. c and d. 

Correct Answer: B 

 

QUESTION 2

Which of the following is NOT an economic benefit of implementing Green IT? 

A. Improved return on IT investment. 

B. Lower energy costs. 

C. Reduced travel expenses. 

D. Reduced staff wages. 

Correct Answer: D 

 

QUESTION 3

Which of the following is a role of Asset and Configuration Management within Green IT? 

A. To identify where new data centres can be located. 

B. To identify where old computer parts can be recycled. 

C. To identify where computer equipment can be re-used. 

D. To identify where existing servers can be moved. 

Correct Answer: B 
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QUESTION 4

The Carbon Footprint comprises of both direct and indirect emissions. Which of the following is an indirect emission? 

A. Travelling to the office. 

B. Opening a spreadsheet. 

C. Disposing of a server. 

D. Printing out a report. 

Correct Answer: C 

 

QUESTION 5

What is the role of a Stakeholder Map in a Green IT programme? 

A. It provides performance measurement of key stakeholders. 

B. It highlights the responsibilities of each stakeholder. 

C. It identifies where the roles of stakeholders overlap. 

D. It identifies where stakeholders will influence the programme. 

Correct Answer: D 
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